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[No. 1] Select the statement which best corresponds to the content of the following

passage.

EVEMEDRRD=, BFETIEEA,




1. Scientists say that the most worrying occurrence is a rise in the earth’s temperature by
1C on average.

2. Since the Industrial Revolution, people have suffered from the greenhouse gases caused
by frequent heatwaves and floods.

3. Some of the solutions to deal with climate death and destruction have been illustrated
in a database and discussed in interviews with some of the world’s leading scientists.

4. An analysis revealed that global heating caused by humans has most likely been behind
at least a dozen of the most serious events from killer heatwaves to broiling seas.

5. The planet’s temperature is on track to fall 2.5C and it’s expected to continue to fall

even further.



[No. 2] Select the statement which best corresponds to the content of the following

passage.

EZVEMEDRRD-D, BETEEE A,




EZEOBERDD, BEHTIERA,

I. For about two decades, some passengers have had access to the internet during the
flight.

2. Both ATG and satellite-based connectivity may decrease on flights over deserts or large
bodies of water.

3. The survey found that high service fees are not a factor preventing the widespread use
of inflight WiFi.

4. The download speeds for the fixed broadband and the ATG-based inflight system are
the same.

5. Many airline companies launch more satellites every year to promote ATG due to the

rapid increase in demand for the inflight network services.




[No. 3] Select the statement which best corresponds to the content of the following

passage.

ZIEEDBERD-D. BEHTIZEA,




ZEOBBROD-D, BETEXEEA,

1. The Endurance was found, and the scientists were also able to find the remains of

Shackleton and his crew.

2. Though the Endurance was easy to locate, the scientists were absolutely astonished

when they came upon the wreckage.

3. After the Endurance was found, those who discovered it were free to take some of the

items that were not damaged.

4. The shipwreck search was achieved by using remotely operated submersibles with
icebreaking equipment.

5. Though the vessel was at the bottom of the sea for over 100 years, it is still in a remarkably

good condition.




[No. 4] Select the statement which best corresponds to the content of the following

passage.

FEIEMEDBERDD. BHTIZEA,




I. Lionfish are one of the fish most likely to become extinct due to invasive species
swimming in today’s oceans.

2. Tt took 10 years for lionfish to reach Venezuela after they were first caught in the Gulf of
Mexico.

3. Around 2020, many scientists were unable to watch the ecology of lionfish because they
were infected with COVID-19.

4. Tt is estimated that around 2020, lionfish began heading south from areas near Venezuela
and Trinidad and Tobago when scientists were not paying attention.

5. Brazil’s coastline is clear enough to track lionfish between March and May, so scientists

track lionfish during that time every year.



[No. 5] Select the statement which best corresponds to the content of the following

passage.

ZVEEDBERD-. BEHTIEEA,




ZEOBERDD, BEHTIEEA,

1. The main challenge in solving problems like the bat-and-ball problem is that people
find it hard to calculate when the prices are higher.

2. In the original bat-and-ball problem, most people suggested that the ball costs 10 cents
more than the set.

3. Researchers say the intuitive process is always detrimental to problem solving, leading
to wrong answer choices.

4. Participants’ prior knowledge led to more correct answers when the problem was
reframed.

5. People with more deliberate reasoning skills are less likely to believe someone would

buy a luxury car like a Rolls-Royce or a Ferrari for $190,000.




[No. 6] Select the statement which best corresponds to the content of the following

passage.

ZEOBRDZD, BEHTEEEA,




FEVEEDBERD-. BEHTIZEA,

1. Suzee, a mother chimpanzee, caught an insect on the ground and applied it to a cut on
her son’s foot.

2. The chimpanzees being treated sometimes got their injuries from fighting with
members of their group or other groups.

3. Researchers have found that some chimpanzees treat their wounds with bugs, but they
avoid doing the same to others.

4. Researchers do not know what type of bug was used by the chimpanzees, but they
suspect that the same kind is used on birds, bears, and elephants.

5. The chimpanzees were watched for 15 months, and they were observed treating other

animals at least 19 times.




[No. 7] Select the statement which best corresponds to the content of the following

passage.

FEMEDBERDD. BEHTIZEA,




I. A new study shows that those with unlimited wants are produced by striving to
continuously increase individual wealth and seek economic growth.

2. A new study supports the idea that unlimited wants are human nature, which could
have a significant effect on the planet.

3. According to a survey of nearly 8,000 people conducted by the researchers, one must
acquire the skills that can earn US $10 million in order to realize an ‘absolutely ideal life’.

4. According to the responses collected from individuals in all the residential countries of
the world, people who have unlimited wants were not identified in every country, but in
some countries, they were the majority.

5. The researchers discovered that people with unlimited wants tend to be young-aged

people who are residents of a city.



[No. 8] Select the statement which best corresponds to the content of the following

passage.

ZEOBRDZD, BEHTEEEA,




EZFHOBERDD, BETIEEA,

I. One of the oldest pendulum clocks still in existence was built in the 14th century

according to a Chinese poem.

2. The English word “cloche” was a replacement for the French word “daegmael” meaning

bell, which can measure time automatically.

3. A water clock could be used in many situations. For example, indoors, during the night,

and on a cloudy day.

4. Greeks made a water clock which was called a clepsydra. In a water clock, hot water

would both keep time and hit a bell.

5. The earliest medieval European clockmakers were Christian monks who spread

Christianity by using many kinds of clocks during the 6th century.




[No. 9] Select the statement which best corresponds to the content of the following

passage.

EZFEOBERDD, BEHTIEEA,




1. More than a billion people who do not have access to safely managed drinking water
services live in Sub-Saharan Africa.

2. Drinking water quality standards in many countries are based on WHO’s Guidelines for
Drinking Water Quality.

3. WHO’s Guidelines for Drinking Water Quality define three key parameters as the
national standards in many countries.

4. Drinking water quality has been improved by revisions to the United Nations’ Sustainable

Development Goals.

5. Safely managed drinking water services don’t acknowledge rainwater as a source of safe

drinking water in any African country.



[No. 10] Select the statement which best corresponds to the content of the following

passage.

EEMOBERD-O, BEHTIEEA,




1. Ben Bernanke and two other experts won the Nobel Prize at the same time regarding
why banks exist and why bank panics hurt.

2. According to Bernanke, borrowers are always requested to return money as soon as they
make a profit from their projects.

3. Banks select appropriate savers and help them develop special knowledge so that they
can tell who are worthy borrowers.

4. Douglas Diamond and Philip Dybvig found that the depth and length of the Great
Depression might have something to do with financial factors.

5. Information asymmetry became the basis of “maturing transformation” which was

named by Mark Gertler, who had collaborated with Bernanke.



Read the following passage and answer the questions [No. 11] and [No. 12].

ZEOBRO-D, BETXELEA,




[No. 11] Select the most appropriate combination of words that can be inserted into

‘ A R B ‘and‘ C
A B C
1. intelligence ability originality
2. intelligence location similarity
3. strength ability originality
4. strength ability similarity
5. strength location similarity

[No. 12] Select the statement which best corresponds to the content of the above passage.

1. The scientists found that all species of octopus have genomes that are filled with
transposons.

2. Each transposon in humans is dormant and is not related to cognitive processes such as
those used in learning and memory.

3. According to Graziano Fiorito, an octopus’s vertical lobe is similar to the human
hippocampus in terms of its function.

4. Because octopuses demonstrate behavioral and neural plasticity, they are closely related
to animals with backbones.

5. Since octopuses have the same transposons as humans, they are highly intelligent and

may never go extinct.



[No. 13] Select the most appropriate way to fill in the blank of the following passage.

EEOBERDD, BEHTIEEA,

1. itis necessary to get new computers for remote work
it is important to spend more on updating office facilities
she needs to reduce labor costs, taxes and travel expenses

she is planning to upgrade computer software

ook W

she doesn’t plan on getting new computers soon




[No. 14] Arrange ® to ® so that they follow (A) to (B) in the most appropriate order.

EZFEDERD-D, B TEIEHEA,
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[No. 15] Arrange ® to ® so that they follow (A) in the most appropriate order.

ZEMOERDD, BEHTIETA,
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[No. 16] Select the most appropriate combination of words that can be inserted into the
designated parentheses in the following sentences.

O The cat jumped over the wall ( A ) ease.

O We will be ready to go for lunch ( B ) two minutes.
O Thenews ( C ) his daughter survived the accident surprised us all.
O My father looks younger ( D ) his uniform.
A B C D

1. at in that with

2. at after that in

3. with in that in

4. with in which with

5. with after which in

[No. 17] Select the most appropriate combination of words that can be inserted into the
designated parentheses in the following sentences.

O Time to play the pianoistome ( A ) water is to fish.

O In Japan, people never visit their friends at home ( B ) taking a present.
(O My grandmother is very happy, to say nothing ( C ) my grandfather.
O Heisnot ( D ) all sure that he can go through with the project.
A B C D

1. what without of at

2. what without at at

3. what by of in

4. that without at at

5. that by at in



[No. 18] Select the most appropriate combination of words that can be inserted into the
designated parentheses in the following sentences.

O In my opinion, it is very unwise to look (A ) reading as a task.

O He likes red wine better than ( B ).
O ( C ) butnot least, I would like to thank my husband for his help.
(O Farmers are constantly ( D ) the weather.
A B C D

1. upon white one At last depended on

2. upon white Last at the mercy of

3. onto white one Last depended on

4. onto white At last depended on

5. onto white At last at the mercy of

[No. 19] Select the most appropriate combination of words that can be inserted into the
designated parentheses in the following sentences.

O 1It’s been a while since we last met, ( A )?

O 1want to go shopping ( B ) it rains.
(O Sheis going to stay in Seoul fora ( C ) of weeks.
(O 1Itislikely that he kept his client waiting so longon ( D ).
A B C D
1. hasn’tit even if pair time
2. hasn’tit even if couple purpose
3. hasn’tit in spite of pair time
4. isn'tit even if couple time
5. isn’tit in spite of pair purpose



[No. 20] Select the sentence which is grammatically correct.
1. We have two daughters; one is a teacher, and another is a writer.
There is a room for improvement in our company’s sales figures.
After I injured my knees, I had to quit to play for my school’s basketball team.

I convince that he has sufficient experience to work at this hotel.

ARSI N

If she had seen a doctor last week, she would be fine by now.

[No. 21] Select the sentence which is grammatically correct.

1. Idon’tfeel like making lunch, so what do you say to eat out?
The water pipe has been broken for the last three weeks.
The new computer lets you to change your password online.

They must come to school tomorrow with all their pencils sharply.

ARSI B

A dictionary gives me many informations about words and phrases.

[No. 22] Select the sentence which is grammatically correct.
1. Her office is been renovated at the moment.

As is often the case as him, he was late coming.

Will you go to upstairs and shut door of my room?

She took notes so as not to miss the main points of the meeting.

AT R

They deprived him from his political power.

[No. 23] Select the sentence which is grammatically correct.

1. Seeing from a distance, it looked like a picture of flowers.
If you're interested in security issues, this article is worth to read.
My mother brought up in London.

I'd appreciate it if you make a reservation for me.

AN T I

The students are faced with a very confusing problem.



[No. 24] Select the best English translation.
l. RIS EEDN Yy TxE 7,
She broke the cup by chance.
2. TOBEHE. €OV —F VA MPRELET TOIEBFETE RN o7,
The man was none other than the actor the journalist had been looking for.
3. BFEO/NEZDNENPFED 30 N—k > bEh-o72 &, ETHEREL,
It’s too bad that the wheat crop last year was 30 percent below average.
4. AEDH2ICHEZI->TE5228 DAL >7,
I never meant to have you pay the bill.
5. =B, FEHEL EFZEASE .

We talked him out of changing his job.

[No. 25] Select the best English translation.

L AV RATYTRNEBRICHET %,
Indonesia consists of small islands.

2. HBIEZOMLVEDONLSONIE, A ¥ =2y b THATLIENTE S,
You can purchase what books you want over the internet.

3. HIEE DR ABRVICHBIITID ERKITRETH I ENTE
He finally persuaded her to go out for dinner after work.

4. BRI D->T, DLFEZE> T NEEAD,
Could you spare her some time and help her?

5. BENHEERZEORIMN» T TV5,

The cherry tree you saw last year is dying.



[No.

[No.
MBI TEAEDPEECTHEEZBE LS ENTE

26] Select the best English translation.

Ty v ZEXAENPDED 7D BIIEEEIARNETE 2L,

You shouldn’t listen to Jack however much he complains.
LITSIFTTN, L IS5 FEEREIPHD ET,

It’s almost three o’clock, so we have 15 minutes at most.

FOTUT 2T MICEEMATINERTAD,

Could you inform him of the outline of the project?

#ziE, BEEOHI CIEREELEZ -,

She held back from giving her opinion in the presence of customers.
HEBHSELAPOVTTR, BrHERIEIARDT,

We had better move our car. It’s really in the way.

27] Select the best English translation.

He managed to make himself understood in English.
BREEICIEFANPIZEAELRWE/- D,

I think there is a little milk in the refrigerator.
BHETIHI ZITKRAZNTLILES L,

Don’t fail to come here by three.

EBNE. B OREIEATREIE E B - 72,

The boss said that our plan was out of the question.
CORFNE 1 Bic 5 7R ED,

This clock loses five minutes a day.



[No. 28] Arrange the words in the most appropriate order and select the combination of
words that can be inserted into A, B, and C in the following sentences.
O The hotel ( ) A )I( )( ) ( ) ( )( ).
(winter, which, at, great, stayed, was, last)
O Who ( ) B )( )( )( )( )( ) ( ) with?
(do, party, the, to, he, think, you, came)

O The girl ( ) ( ) C )( ) ( ) ( ) ( ) accident.

(have, in, to, injured, the, been, appeared)

A B C
1. was you have
2. was came been
3. which you have
4. which you been
5. which came been

[No. 29] Select the word group which contains underlined word parts that all have the

same pronunciation.

1. boat ocean only float

2. increase desert phrase possess
3. anchor ladder album father
4. climate guide precise driven
5. theme recent meant peach



[No. 30] Select the combination of letters which indicates an appropriate syllable on
which the accent should fall for each word below.

A per-spec-tive

7 A i
B com-mis-sion
A G/
C con-sid-er-a-ble
7 A4 U I F
D cur-ric-u-lum
7T A4 v I
A B C D
1. 7 7 7 A
2. 7 7 A 7
3. 1 7 T v
4. A A A A
5 4 A . 7
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1 4 21
2 1 22
3 5 23
4 4 24
5 4 25
6 26
7 27
8 28
9 29
10 30
11 2
12 3
13 5
14 3
15 3
16
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